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UNIVERSITY OF RUHUNA

Faculty of Engineering

End-Semester 5 Examination in Engineering: May 2023

Module Number: IS 5302 Module Name: Financial Management

[Three Hours]
{Answer all questions]

Q1.

a) Identify internal and external users of financial information?

[02 Marks]
b) Define asset, liability, and stockholders’ equity.
[02 Marks]
¢) Gomez Limited has the following assets and liabilities.
Rs.
Loan 180 000
Cash 90 000
Accounts Payable 110 000
Accounts receivable 170 000
Equipment 200 000
i.  Classify each balance as an asset or a liability.
ii.  Calculate shareholders’ equity.
[04 Marks]
d) What are the objectives of financial statements?
[02 Marks]
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e) A company began the accounting period with Rs. 5,000,000 in owner's capital,
ended with Rs. 7,500,000 in owner’s capital, and the owner withdrew Rs. 3,000,000
during the period for personal use. Calculate the company’s net income or loss for
the period?

[02 Marks]

f) As per the Conceptual Framework for Financial Reporting, there are qualitative
characteristics that enhance the usefulness of information that is relevant and
faithfully represented. Further, the framework also sets out the measurement of
the elements of financial statements.

You are required to Explain two qualitative characteristics that enhance the
usefulness of financial information.
[02 Marks]

g) The following information was extracted from the books of Manel Stores, a sole

proprietorship for the year ended 31st March 2022:

Rs.
Total assets as at 31st March 2022 7,500,000

Capital as at 01st April 2021 5,000,000

Drawings made during the year 600,000

Liabilities as at 31st March 2022 1,700,000

Based on the above information, calculate the profit for the year ended 31st March 2022.
[04 Marks]
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h) A financial performance analysis includes analysis and interpretation of financial

j)

statements in such a way that it undertakes a full diagnosis of the profitability and
financial soundness of the business. Financial ratios analysis is a way to identify
the financial performance of a business.

You are required to State two reasons as to why the financial ratios analysis is

important for an organization.

[02 Marks]
The following data are available for Allen Clapp Corporation:
Rs.
Net income 200,000
Depreciation expense 40,000
Dividends paid 60,000
Gain on sale of land 10,000
Decrease in accounts receivable 20,000
Decrease in accounts payable 30,000

How much is cash provided by operating activities using the indirect method for

the statement of cash flows?

[02 Marks]
The following table shows the balance sheet extract for SQUARE Limited.
Current Assets Rs. Current Liabilities Rs.
Cash 75,000 Accounts Payable 65,000
Marketable Securities 60,000 Short term notes payable | 80,000
Accounts receivables 56,000
Inventory 40,000 i

What is the cash ratio for the company?
[02 Marks]
[Total 24 Marks]
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Q2.
a) Explain how Cost-Volume Profit (CVP) analysis is related to planning for a
profitable business.
[02 Marks]
b) Describe the notion of costs behavior (variable vs. fixed).
[02 Marks]
) A store sells t-shirts. The average selling price is Rs. 1,500 and the average
variable cost (cost price) is Rs. 900. Thus, every time the store sells a shirt it has
Rs. 600 remaining after it pays the manufacturer. This Rs. 600 is referred to as the
unit contribution.
L. Suppose the fixed costs of operating the store (its operating expenses) are Rs.
10,000,000 per year. Find Break-even in units?

[02 Marks]
ii.  If the owner desired a profit of Rs. 2,500,000 what will be break-even point in
Rupees?
[02 Marks]
iii.  If fixed costs rose to Rs. 11,000,000 calculate the break-even in units.
[02 Marks]
iv.  If the average selling price rose to Rs. 1,600, calculate the new-break even in
units,
[02 Marks]
[Total 12 Marks]

Q3.
a) Describe what is meant by the term 'the time value of money' and identify factors
that ensure that monies received in different time periods will have different

values.

[04 Marks]
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b) A company is considering which of two mutually exclusive projects it should
undertake. The finance director thinks that the project with the higher NPV should
be chosen, whereas the managing director thinks that the one with the higher IRR
should be undertaken, especially as both projects have the same initial outlay and
length of life. The company anticipates a cost of capital of 10%, and the net after

tax cash flows of the projects are as follows:

Year Project X Project Y
Rs."000 Rs."000
0 (200) (200)
1 35 218
2 80 10
2 90 10
4 75 4
5 20 3
Required:
i.  Calculate the NPV and IRR of each project.
[06 Marks]
ii. Recommend, with reasons, which project should the company select.
[02 Marks]
[Total 12 Marks]

Q4.
(a) Define limiting factor and how should a company determine its optimal product

mix when a limiting factor exists?

[04 Marks]
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(b) Candy Hive Ltd. manufactures assorted sweet boxes in 3 different sizes and delivers
to customer’s door step. The following information is provided for the first quarter of

2023:

Rs. (per unit)
A B 5

Direct Material 800 1900 2800
Skilled Labour (at Rs.1,000/ - per hour) 800 1100 1500
Packaging material cost (Rs.400/ - per 160 240 360
square meter)

Delivery Cost (Rs.200/- per kg) 200 300 500
Other Variable Overheads 150 200 250
Selling Price 2600 4400 6500
Budgeted Sales per quarter (in units) 1000 | 600 200

Quarterly Fixed Overheads will be Rs. 150,000/ - for 2023.
For the first quarter of 2023, the availability of delivery weight has been estimated as
2,200 kg.
You are required to calculate the optimal production mix based on the limiting factor
(Delivery Weight).
[08 Marks]
[Total 12 Marks]
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